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“A financial system is a well-integrated system whose parts interact with each
other.” Explain.

OR

“There is a close relationship between financial system and economic growth.”
How ?

Answer briefly : (Any two)

(1) State the types of financial markets.

(2) What are financial services ?

(3) State the functions of financial institutions.
Answer in one or two lines :

(1) Give any example of a country having extreamly market based financial
system.

(2) Give an exampleof investment institution.

(3) Give an example of secondary financial instrument.

“Treasury Bills. 'are an important short term source of finance for the
Government.” Explain.

OR
Explain thefunctions of money market.
Distinguish between : (Any two)
(1) Commercial paper and certificates of deposit.
(2)..Money market and Capital market.
(3) Money market and Debt market.
Answer in one or two lines only :
(1) Whatis CRR?
(2) Whatis CBLO?
(3) What is Call Money Market ?
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Describe the role of SEBI in the capital market.
OR
How do corporate mobilize resources from international capital market ?
Answer briefly : (Any two)
(1) What is a public issue ?
(2) Why has the private corporate debt market not developed in India ?
(3) State the difference between IPO and FPO.
Answer in one or two lines :
(1) State the types of primary issue.
(2) State the intermediaries to an issue.

(3) What is a free pricing ?

What is listing of securities ? State the process to be undertaken by a company to

list its share.
OR
What is a secondary market ? State the functions of secondary market.
Answer briefly.« (Any two)
(1) What demutualization of stock exchanges ?
(2) -~ What is on-line trading ?
(3) What is rolling settlement ?
Answer.in one or two lines :
(1) How many stock exchanges are there in India ?
(2) Give an example of stock market index.

(3) What is market capitalization ?
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5. Choose the correct option : 14
(1) The is based on the model of NASDAQ of the United States.
(a) Inter-connected stock exchanges of India
(b) National Stock Exchange
(c) Over the counter Exchange of India

(d) None of the above

(2) Stock market moved to the settlement system.
(@ T+1 by T+2
() T+3 d T+5
(3) The stock exchange may delist companies which have been suspended for a
minimum period ______ months for non-compliance with the listing agreement.
(@) 6 b 9
c© 12 d 3
“4) issue does not bring in any fresh capital, to the firm.
(a) Equity (b) Preference
(c) Debenture (d) . Bonus

(5) Prospectus is not issued in

(a) public issue (b) rightissue
(c) private issue (d) both (b) and (¢)
6 A issue is an issue of securities by listed companies to a selected group

of personsunder section 81 of the Companies Act 2013.

(@) Right (b) Preferential
(c) Public (d) None of these
(7)" An issue of a minimum size of ¥ ______ crore is a mega issue.
(@ 50 (b) 100
() 150 (d) 300
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Which of the following is considered as hybrid security ?

(a) Equity Share (b) Preference Share
(c) Debenture (d) Bond
Formation components of Sensex and Nifty are and
(a) 30,50 (b) 40,50
(c) 50,40 (d) 50,30

When OTCEI was established ?

(a) 1989 (b) 1990
(c) 1991 (d) None of these
Full form of CDSL

(a) Central Depository Service Limited

(b) Central Deposit Service Limited

(c) Central Direct Service Limited

(d) None of these

Who is present chairman of SEBI ?

(a) U.K. Sinha (b) C.B.Bhave

(¢) M. Damodaran (d) .. None of these
Which of the following is'not instrument of capital market ?
(a) Equity share (b) Debenture

(c) Commercial paper (d) None of these

Which of the following is characteristic of money market ?

(a) Duration of one year (b)  Short-term purpose

(c) Controlled by the RBI (d) All of the above

respectively.



